Maths for week beginning 8th February 2021

Please complete the daily work and send a
copy/picture to your teacher.

5L Miss Langoo at
elangoo@kingsavenue.lambeth.sch.uk

4/5/W Mrs Williams (formally Duke) at
Jduke@kingsavenue.lambeth.sch.uk



mailto:elangoo@kingsavenue.lambeth.sch.uk
mailto:jduke@kingsavenue.lambeth.sch.uk

Times Table Rockstars https://ttrockstars.com/.

Everyday please log into Times Tables RockStars
(TTRS)

You have been sent login details, if you are
unsure please contact your teacher


https://ttrockstars.com/

AAAAAAAAAA

L= B - - - - - - - -

x

x 4 =4
X 2=2
x' 3 =3
x &4 =4
x5 =5
x 6§ = 6
X ¥$T=9
x 8 = 8
x 9 =29
x40= 40
6x

x4 =6
X 2 =42
X 3 =48
x b =24
x 5§ =30
x 6 =36
x 7 =42
x 8 =48
X 8 =54
x40 =60

Chant your times tables dail
1 2x

2 x4
22
215
2 x
S
2 x
2 x
21¢
2 x

LN U I

Huygununnunnnn

(53
X
A
o

X

oW LA

Sl B IR R I R I I
XX XXX XX XXX

A
o

() 1 D U I 1 I I I F R I
SN I Sl S O SO SN
QOO o &

o O N

410

At
46
18
20

W wwwwww
XXXXXXXXXX

A
o

Ca 0o 0o o Oo Oo Oo Oo Oo O

G
X

(7R - T AT SN

Huyunnunnnnmn

0o
X

XX X X XX X XXX
@O

-
o

TR R R T
RO P WA R
O ITOIRON T

12
15
18
24
24
27
30

FEFFEFEFEEES
XX XXXXXXXX

LLLLLLOLOLOLOO®

X

Lo NP WA #

o,
o

oog-uo-mruao-\(xo

XX XX XXX XXX

-~
o

(T L T T B T I T I T I T I T I T
oW NS
CADDLWFTFNGILYN

DOOAN NS
O

- W w
oM

5x

SEx A4 =5

5§ x 2 =40
5§ x 3 =45
5 x 4 =20
5§ x 5§ =25
5x 6 = 30
5§ x ¥ = 35
5§ x 8=40
5 x 9 = 45
5 x40= 50

410x

40 x 4 =40
A0 x 2 =20
A0 x 3 =30
A0 x &4 =40
40 x 5 =50
A0 x 6 =60
A0 T =%0
40 x 8 = 80
40 x 8 =80
40 x40 =400



February
7 times tables

Ix7=7 6x7=42 11x7 =77
2x7 =14 7x7 =49 12x7 =84
3x7 =21 8x7 =56
4x7 =28 9x7 = 63
5x7 =35 10x7 =70




Lesson 1
Monday 8th February 2021

LO: To add fractions within 1 (different denominators)

Watch voice over of lesson https://voutu.be/a9ImPysbHng



https://youtu.be/g9ImPysbHng

Times Table Rockstars https://ttrockstars.com/.

Everyday please log into Times Tables RockStars
(TTRS)

You have been sent login details, if you are
unsure please contact your teacher


https://ttrockstars.com/

Arithmetic

‘ “a~ < k u Year5 Week5 Dayl
f | G@shoa@k U &

Which is greater, g or g?

| 3 5
s A
2) What comes next” 0'10°10” —

3) Work out 222

Y4) Round 8,426 to the nearest hundred.




Key Vocabulary for today’s lesson

Fractions

Add

Denominator
Numerator

Common denominator
Multiples

Equivalent fraction

Throughout this
lesson think about
how you tackle the
question. What
way is the most
efficient?
(quickest)



LO: To add fractions within 1 (different denominators)

Today’s lesson will be a practice/activity to get us
started with adding fractions with a different
denominator. Work through the activities, making
sure you are following the steps to support you.



LO: To add fractions within 1 (different denominators)

Strategy.

1.

Step 1: what number can the
denominators be? This will be the
common denominator. They will be
multiples of the same number. Find
the multiples

Step 2: change the bottom to the
common denominator, remember
that what you do to the bottom
you do to the top

Re-write the addition with the new
equivalent fractions

Add the numerators only now that
the denominators are the same

Simplify if needed

. F\@r)\d «?u ‘mm % ®\\s{ i(ahed&rrgmw\cs
=) 2

2 Mrite eq uxyzoleg’f fmchonb w %e cormn |
4 '3 =‘,"
3 Mrite the problem w] cquwalen‘r fraci

L i oo 6
Ll.Fmd H\e Sum.
Add the ’num:{a{ors , denominator dag glﬁ

R improper frachion

2. Oimplity, when needed
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LO: To add fractions within 1 (different denominators)

Task: Recap from last week. Add fractions with the same denominator

ADD
Strategy:

Step 1:
Add the
numerators

Step 2: Keep
the
denominators
the same

Step 3:
Simplify if
possible

3

6

|
s
|~
Il
o

hint=you will need to
make your answer an

equivalent fraction

3) Complete the part-whole model:

Hint: what can 3 wholes be the
same as with 9 as the
denominator?

11




LO: To add fractions within 1 (different denominators)

Recap answers

9/4 is an improper fraction so | converted it
to 2 wholes and 1/4 to make it into a mixed
number.

5/6 + 7/6 = 12/6 which is the same as 2 wholes.

Because there is 1/13 on the right of the equals
sign, | made 2 wholes into an equivalent fraction
that has 13 as a denominator.

26/13 is the same as 2 wholes. | knew the mixing
fraction was 15/13 because
25/13 + 1/13 = 26/13

| know that 3 wholes would be the same as 27/9
because 9 goes into 27, three times equally.
Therefore the missing fraction is either 3/9 or ¥4
once simplified.

27/9 + 3/9 (¥5) = 30/9

6, 3. (48] |1
Vz+2=|7|7|*3
s 7 [28], 1
6 T 5=|13| 713
12 26

12



LO: To add fractions within 1 (different denominators)

My turn

Ol N
g
W) =

Step 1: what number can the denominators
be? This will be the common denominator.

They will be multiples of the same number.
Find the multiples

| know that | can change 3 into 9 because it
is a multiple of 3.

L1
3

O N

O N
-

N
A

OlW W|kK

Ol N

+
Ol w
Il
| u

Step 2: change the bottom to the common
denominator, remember that what you do to
the bottom you do to the top

Step 3 re-write the addition with the new
equivalent fractions

Step 4 Add the numerators only now that the
denominators are the same

Step 5 Simplify if needed

13



LO: To add fractions within 1 (different denominators)

Your Turn:

Strategy.

1 1 1. Step 1: what number can the

T Have a think denominators be? This will be the

4 12 common denominator. They will be
multiples of the same number. Find
the multiples

2. Step 2: change the bottom to the
common denominator, remember
that what you do to the bottom
you do to the top

3. Re-write the addition with the new
equivalent fractions

4. Add the numerators only now that
the denominators are the same

5. Simplify if needed

14




LO: To add fractions within 1 (different denominators)

My turn

work out

Divide each

partinto 3

Step 1: what number can the denominators
be? This will be the common denominator.

They will be multiples of the same number.
Find the multiples

| know that | can change 2 into 6 because 6
is a multiple of 2

6

1

2

Step 2: change the bottom to the common
denominator, remember that what you do to
the bottom you do to the top

Step 3 re-write the addition with the new
equivalent fractions

Step 4 Add the numerators only now that the
denominators are the same

Step 5 Simplify if needed

15



LO: To add fractions within 1 (different denominators)

Your Turn:

for you

1st one is done

=
WIN

Strategy.

Step 1: what number can the
denominators be? This will be the
common denominator. They will be
multiples of the same number. Find the
multiples

Step 2: change the bottom to the
common denominator, remember that
what you do to the bottom you do to
the top

Re-write the addition with the new
equivalent fractions

Add the numerators only now that the
denominators are the same

Simplify if needed

i

16



Year5 Week5 Dayl

) Which is greater, g or %?

@l

I 3 5 7
i ¥ 9
2)  What comes next” 0'16°10” — 0

o

3) Work out 222 484

Y) Round 8,426 to the nearest hundred. 8,400

17



LO: To add fractions within 1 (different denominators)

Your Turn:
ANSWER

| changed 1/4 into 3/12 because 4
could be multiplied by 3 to get to
12 for the denominator.

| did the same to the top

3 1 4
12 " 12 42

| then added the numerators now
that the denominators are the
same

| also simplified by dividing the
numerator and denominator by 4

18



LO: To add fractions within 1 (different denominators)

Your Turn:
ANSWER
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LO: To add fractions within 1 (different denominators)

Independent Task
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LO: To add fractions within 1 (different denominators)

Independent Task ANSWERS

5 1 4
——— — e —
6 J 10 5
3 1 -
4 5 10
o
p = s
5 5 3 _
8 7 14

13
14

21



Lesson 2
Tuesday 9th February 2021

LO: To add fractions within 1 (different denominators)

Watch voice over of lesson https://voutu.be/80vOqg3e0gRE



https://youtu.be/8OvOq3e0qRE

Times Table Rockstars https://ttrockstars.com/.

Everyday please log into Times Tables RockStars
(TTRS)

You have been sent login details, if you are
unsure please contact your teacher

23


https://ttrockstars.com/

Arithmetic

)

2)

3)

4)

Year5 Week5 Day2

7

Which is greater, 5 or ia?

Change g to sixteenths.

Divide 2,592 by 6

What is the value of the Y in the number 8HI?

White

24



Key Vocabulary for today’s lesson

Fractions

Add

Denominator
Numerator

Common denominator
Multiples

Equivalent fraction

Throughout this
lesson think about
how you tackle the
question. What
way is the most
efficient?
(quickest)

25



LO: To add fractions within 1 (different denominators)

Strategy.

1.

Step 1: what number can the
denominators be? This will be the
common denominator. They will be
multiples of the same number. Find
the multiples

Step 2: change the bottom to the
common denominator, remember
that what you do to the bottom
you do to the top

Re-write the addition with the new
equivalent fractions

Add the numerators only now that
the denominators are the same

Simplify if needed

. F\@r)\d «?u ‘mm % ®\\s{ i(ahed&rrgmw\cs
=) 2

2 Mrite eq uxyzoleg’f fmchonb w %e cormn |
4 '3 =‘,"
3 Mrite the problem w] cquwalen‘r fraci

L i oo 6
Ll.Fmd H\e Sum.
Add the ’num:{a{ors , denominator dag glﬁ

R improper frachion

2. Oimplity, when needed

26



Watch video https://vimeo.com/503393745

ADD FRACTIONS

WITHIN |

27


https://vimeo.com/503393745

LO: To add fractions within 1 (different denominators)

My turn

| shaded in '~
and i could see
it was the same
as 3/6 so i
shaded that in.

| then added %
which equals
4/6

a)
gy
y o ! ot
VY =5, f _,::1
—lf/_: ey ds Ve
1 .
— 5
2 f
V E
d
’l
r
()
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LO: To add fractions within 1 (different denominators)

Your Turn:

b)

W=
| =

o | =

29



LO: To add fractions within 1 (different denominators)

My turn

14/12 simplified is 7/6
because i divided by 2.

716 is an improper
fraction so i changed it
to a mixed number

30



LO: To add fractions within 1 (different denominators)

Your Turn:

9
Strateqy. 10

1.  Step 1: what number can the denominators be? This
will be the common denominator. They will be
multiples of the same number. Find the multiples

4
+ — =
5

2.  Step 2: change the bottom to the common
denominator, remember that what you do to the
bottom you do to the top

3. Re-write the addition with the new equivalent
fractions

4. Add the numerators only now that the denominators
are the same

5.  Simplify if needed

31



LO: To add fractions within 1 (different denominators)

My turn g D 15

problem —

solving 16 8 16

This question is asking for the missing numerator. Using the parts of the calculation | already have, |

am able to do an inverse operation. So the addition turns into a subtraction and | do 15/16 subtract 5/16
which is 10/16 | then simplified.

32



LO: To add fractions within 1 (different denominators)

Your Turn:
Problem
solving

33



LO: To add fractions within 1 (different denominators)

First one
has been
done for

you

INDEPENDENT WORK

o Match the additions that have the same answer.

Strategy.

Step 1: what number can the
denominators be? This will be the
common denominator. They will be
multiples of the same number. Find the
multiples

Step 2: change the bottom to the
common denominator, remember that
what you do to the bottom you do to
the top

Re-write the addition with the new
equivalent fractions

Add the numerators only now that the
denominators are the same

Simplify if needed

wiN

o

N |-

10,1
12 12
Bl
12 12
P I
12 12
B4
12 12

34



LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK

o Here are two jugs.

)

One jug contains % litres of water.

The other jug contains a litres of water.

9

How many litres of water are there altogether?

There are

litres of water altogether.

o a) Complete the calculations.

+

—
o|"

A
5

v|N
+

—

o|"

vjw
+

—

o|"

CIFS
+

—

o|"

Can you spot any patterns? Talk to a partner about it.

What calculation would come next in each set?

&=
Ko

00—
K

P
w
Nlm

N =
[




LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK

o Complete the part-whole models.

a) b)

C) ‘ d) ‘



LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK

=
8 - 16 .8

What could the missing numerators be?

Give six different possibilities.

= 7 7
8 * 16 =8 8 * 16 =8 8 * 16 =8

A 7 il
& 2™ 8 * 16 =8 8 T 1o =g
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LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK

o Complete the addition pyramids.
a) b)

¢) What fraction is equivalent to both of the fractions
at the top of the pyramids?

38




Year5 Week5 Day2

7 7
LAB.7 !
) Which is greater, 5 or iy’ .
2)  Change g to sixteenths. %

3)  Divide 2592 by 6 432

4) What is the value of the Y in the number 847
Y tenths




LO: To add fractions within 1 (different denominators)

Your Turn:
Problem
solving
ANSWER

13 17

40



LO: To add fractions within 1 (different denominators)
b)

Ty A ANy
e

11 i P
3 6 =

} T {
9

w1 | 22

wiN
+

o | =
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LO: To add fractions within 1 (different denominators)

Your Turn
ANSWERS

X<\ 4
|
'S T
A N/
—-" ~/ __’]
\ | ) ‘ l. f
b A — = |
\ T SRR i '/.'.-‘-\‘ | \ ;}_\
| L | ] _/ | ( J
{ = B - } L
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LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK ANSWERS

o Match the additions that have the same answer.

_3.+l .1_0_+._1_
4 12 12 12
Ll L
3 12 12 12
-2 351 9 1
— g — — g —
6 12 e
P B 3,1
L2112 12 12

o Here are two jugs.

L

DG |
=0 " TC\

One jug contains % litres of water.
The other jug contains % litres of water.

How many litres of water are there altogether? A‘D ‘D

< L

g ) = 13
5.4 2" | %
.|‘ 'l g

There are litres of water altogether.

43



LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK ANSWERS

o a) Complete the calculations.

ul|w wi|N 1| =

(S0

+

al-

al-

_a|_.
o

L
10

Bl= oo|— 5;[...

N|=

s|u1 %|u1

K|

K[

b) Can you spot any patterns? Talk to a partner about it.

¢) What calculation would come next in each set?

44



LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK ANSWERS

o Complete the part-whole models.

a) b)

45



LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK ANSWERS

C) ‘ d) ‘

6 (1. ]

8 16

z
8

What could the missing numerators be?

Give six different possibilities.

(1] [ » [3] [8] 2 [s5] [u] 7
8 *+ 16 =38 8 + 16 =8 8 ¥ 16 =8
(2] [w] » [w] [e] = L[] [2] 2
8 ¥ 96 =g 8 -+ 16 =g PR | Rt

46



LO: To add fractions within 1 (different denominators)
INDEPENDENT WORK ANSWERS

o Complete the addition pyramids.
a) ‘ b)

3 || 8 6 1 7
14 | 28 32 | 16 | 16

|-

¢) What fraction is equivalent to both of the fractions
at the top of the pyramids?

47



Lesson 3
Wednesday 10th February
2021

LO: To add 3 or more fractions (with different
denominators)

https://voutu.be/UiR4sw2UfRM



https://youtu.be/UiR4sw2UfRM

Times Table Rockstars https://ttrockstars.com/.

Everyday please log into Times Tables RockStars
(TTRS)

You have been sent login details, if you are
unsure please contact your teacher

49


https://ttrockstars.com/

Arithmetic

) Which is greater, I% or |%?

2)  What fraction is missing’ ; ;

3)  Multiply 56 by 32

Y) Round 76 to the nearest whole number-.

Week5 Day3

50



LO: To add fractions within 1 (different denominators)
Key Vocabulary for today’s lesson

e Fractions TR
roughout this
e Add _ lesson think about
e Denominator how you tackle the
e Numerator question. What
: way is the most
° Com_mon denominator officient?
e Multiples (quickest)
e Equivalent fraction

51



Watch video https://vimeo.com/504416042

ADD 3 OR MORE

FRACTIONS

52


https://vimeo.com/504416042

LO: To add fractions within 1 (different denominators)

Strategy.

1.

Step 1: what number can the
denominators be? This will be the
common denominator. They will be
multiples of the same number. Find
the multiples

Step 2: change the bottom to the
common denominator, remember
that what you do to the bottom
you do to the top

Re-write the addition with the new
equivalent fractions

Add the numerators only now that
the denominators are the same

Simplify if needed

. F\@r)\d «?u ‘mm % ®\\s{ i(ahed&rrgmw\cs
=) 2

2 Mrite eq uxyzoleg’f fmchonb w %e cormn |
4 '3 =‘,"
3 Mrite the problem w] cquwalen‘r fraci

L i oo 6
Ll.Fmd H\e Sum.
Add the ’num:{a{ors , denominator dag glﬁ

R improper frachion

2. Oimplity, when needed

53



‘ LO: To add 3 or more fractions (with different denominators)

My turn

a)

A 3o Bl

2 4 127
| found that the
common a)
denominator would e : ' .
be 12. g |97 e, | VU Ly | U | 29|22 | G | %5
| converted fractions - | .o P
so that they all had 11 4] SRl A —— e A e
12 as their I S PR B | By WL 13 o7 VL
denominators & ; o

Corovan

| then could add the T el f-“q
AL A 14:0) e Y i = |
numerators AT 5% P i < 54



LO: To add 3 or more fractions (with different denominators)

b)
Your Turn:
Remember to find the AL o e
common denominator 2 32
first
)
B A L
36 12
d)
1.0 4]
3 + 2 + S

55




Eva is attempting to answer:

3+1+3

5 10 20
~
[ Rox 3. 1 .3 7
s+1o 20 35
J

Do you agree with Eva?
Explain why.

LO: To add 3 or more fractions (with different denominators)

Eva is wrong because she has
added the numerators and
denominators together and
hasn’t found a common
denominator. The correct
answer is 17 20

56



Farmer Staneff owns a field.

He plants carrots on % of the field.

He plants potatoes on ;2)- of the field.

He plants onions on -15—8 of the field.

What fraction of the field is covered altogether?

LO: To add 3 or more fractions (with different denominators)

57




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK

0 Complete the additions.

1 7 3 1.1
D s+70* 20 TR
b) oS o Lyl
16 32" 8 18 9
L. 5.5 Ao
el DSttty

58




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK

o Rosie has a vegetable patch.

HII 000

@@‘@Q 66
@@QQ%

2
g of the patch contains carrots.

5
18 of the patch contains potatoes.

3 of the patch contains onions.

What fraction of the patch contains carrots, potatoes or onions?

59




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK

o Complete the part-whole models.

<)

d) Which one of the part-whole models is the odd one out?

o

)

Is there more than one answer?

Explain how you know.

60




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK

e Fill in the missing numerators.

1 3_S i N B
A g+ *§~3 d s+ t7=3
3 .7 1 3

b) + T +8-8 e)8+16+ 6 -2
1 3 @ 11 3
O FHr e Fu Y Vet T Rl

61




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK

e Complete the number square.

The total of each column is 5

4
The total of each row is 5
2~ i =
10 )
AL
10
-
20

62



Arithmetic

)

2)

3)

4)

3 .3 3
iah i O 9
Which is greater, l,_' or |7. l"l

What fraction is missing? ; ; . ,%

Multiply 56 by 32 ,792

Round 76 to the nearest whole number.

63



LO: To add 3 or more fractions (with different denominators)

B s

|
|

64




LO: To add 3 or more fractions (with different denominators)

INDEPENDENT TASK ANSWERS

0 Complete the additions.

sl O - ey

% 5+*70*30" | % 9 3
1 .5 3 |19 1 5
b) J6+32*8 =3 ) 3 +7g
£ 5y 5 | B 1.8
9 23 %" D 5+35

N

aJ}U\

65




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK ANSWERS

o Rosie has a vegetable patch.

g of the patch contains carrots.

18 of the patch contains potatoes.

3 of the patch contains onions.

What fraction of the patch contains carrots, potatoes or onions?

of the patch contains carrots, potatoes or onions.

66




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK ANSWERS

O compiee the partwhole models e Fill in the missing numerators.

0) O

1 - 2.5 1 6 e

Q e e 0)8+_16—+—8——8 d)—8+ 7 ta"7
6| .3 7 11 q | 3
’ ‘ gt %6 '8 8 e)_§+ﬁ+ 16 4

e e e 67




LO: To add 3 or more fractions (with different denominators)
INDEPENDENT TASK ANSWERS

o Complete the number square.

4
The total of each column is 3

4
The total of each row is 1)
- 2 i
10 5 10
2 a 1
20 10 20
by 3 3
20 10 20

68




Thursday 11th february
2021

LO: To add fractions

https://youtu.be/JWYEdA-LSgY



https://youtu.be/JWYEdA-LSqY

Times Table Rockstars https://ttrockstars.com/.

Everyday please log into Times Tables RockStars
(TTRS)

You have been sent login details, if you are
unsure please contact your teacher

70


https://ttrockstars.com/

Arithmetic

)

2)

3)

4)

g 3
Work out 510
Which is greater, % or %?

Work out |,771 =+ 7

Chocolate bars cost 35p
How much do six chocolate bars cost?

Year5 Week5 Day4

71



Watch video https://vimeo.com/505801286

ADD FRACTIONS .

72


https://vimeo.com/505801286

LO: To add fractions
Key Vocabulary for today’s lesson

e Fractions TR
roughout this
e Add _ lesson think about
e Denominator how you tackle the
e Numerator question. What
: way is the most
° Com_mon denominator officient?
e Multiples (quickest)
e Equivalent fraction

73



LO: To add fractions

Strateqgy . F\@r)\cl «: “‘égnmﬂl' - d“i’f,?‘“@ (ﬁr @ st ’(hc@n;:“w\s
3 =l )
1. Step 1: what b th
de?]%mir\:\;tsrsng;n? 'Ie'rrﬂ?s.avr;ill t?e the Z.wf ik VQlﬁl I+ fmd‘ﬂm V‘/ “\C Common
common denominator. They will be _% '2 _73—'% =‘ci
multiples of the same number. Find
the multples 3. Mrite the prob\em W/ cqmvulcn)t {rac
2. Step 2: change the bottom to the -L % —p T' *1
common denominator, remember
that what you do to the bottom L{ 2 Fmd H\C sum.,
you do to the top A(H H\
e vumerators; denominator g the
A SAM

3. Re-write the addition with the new
equivalent fractions .

] J ]

543 =- 2 nYr

4. Add the numerators only now that : ‘ o Ol
the denominators are the same Mmpfopcr frachion

5. Simplify if needed 5.Simp\|{\y’whcn “CCde 74




LO: To add fractions
My tumn 1 '

2 1 7
-4+ -4 —
3 6 12

L\ =)

=== - o

ngr e b

K ; & = = 0 corwak (T

3 2 1 — L = \—’ M & '\"Mbef‘zl’w 0
—+T’Z+ Ij.):_, ) lr)_. ona~ VT goge into (T
. orner on~d S 1 o
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LO: To add fractions

Your Turn: 1 ~ 3 Strateg Y:

A l . I 1. Step 1: what number can the
4 8 1 6 denominators be? This will be the

common denominator. They will
be multiples of the same number.
Find the multiples

2. Step 2: change the bottom to the
common denominator, remember
that what you do to the bottom
you do to the top

3. Re-write the addition with the new
equivalent fractions

4. Add the numerators only now that
the denominators are the same

5. Simplify if needed

i



LO: To add fractions

How do | know when a
fraction is in its
simplest form?

77



LO: To add fractions

| started at the bottom of the pyramid
and had to use the inverse to work out

the missing fractions.

(9)

-LZ:_‘_PL Q \D
Oy - |
Lo o
5 3 2
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LO: To add fractions
INDEPENDENT WORK

o Complete the additions.

7_ - 4 5_ -
O)‘§+'2—()'— = d)3+12— =
Vgt |- D5t~ |
) +12_ = f)3+15_ =

79



LO: To add fractions
INDEPENDENT WORK

o Match the additions that have the same answer.

W S 15,9

80



LO: To add fractions
INDEPENDENT WORK

o Dexter has some tins of food. There are four types of food: beans,
sweetcorn, soup and tomatoes.

e The total weight of all the tins is 2 kg.

e The tins of beans weigh % kg.

e The tins of sweetcorn weigh % kg.

e The tins of soup weigh % kg.

a) Work out the total weight of the tins of beans, sweetcorn
and soup.

81



LO: To add fractions
INDEPENDENT WORK

e Complete the addition pyramids.
a) b)

|~
o |\

82



LO: To add fractions

INDEPENDENT WORK
o What could the three missing numerators be? 1st one done for you. Check answers to
see if correct. Like what | did below
A8
2 "1z T3 12
Give three different possibilities. Co e 9 M\mﬁ - \ 5
Ll Ll e 93 ' [
+ + = — —— e
4 12 3 12 ‘l' 'Ll" - /p
Py D ¥ Y
_13
& A2 T 19 (L/ %/ _
mim . 1. 8%
3 T 8 T S . ‘

83



)

2)

3)

4)

3 3 q

Work out 5 + 0 0

3 7. 7
Which is greater, gorg ? 8
Work out I,771 = 7 253

Chocolate bars cost 35p
How much do six chocolate bars cost?

£210

84



LO: To add fractions ANSWERS

- e . R

Y .

| YoYour Tum: 1 v Strategy.

= + e + ey 1. Step 1: what number can the
4

8 1 denominators be? This will be the
L : .

v & common denominator. They will

' ‘ | be multiples of the same number.

v/ & %/ Find the multiples

2. Step 2: change the bottom to the
/ s common denominator, remember
! that what you do to the bottom
- you do to the top

@
1+
~
\\
s 1

\
-

Q
w

Re-write the addition with the new
equivalent fractions

p—_ (; 4. Add the numerators only now that
ot the denominators are the same
|
l

'Y, 5. Simplify if needed

;}-
Q
o



LO: To add fractions
INDEPENDENT WORK ANSWERS

e Complete the additions.

231113
20| 20
32(_1 |3
20| S
Wl_| 1L
a | b

—|=| |Z
12 Y
2l IS
15|~ 3
36| _ )
HEEE
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LO: To add fractions
INDEPENDENT WORK ANSWERS

o Match the additions that have the same answer.

3,9 | 6.9
5 ' 20 20 20
3,9 12 .9
2% 20 20 * 20
4,9 | 18,9
5 * 20 20 " 20

87



LO: To add fractions
INDEPENDENT WORK ANSWERS

° Dexter has some tins of food. There are four types of food: beans,
sweetcorn, soup and tomatoes.

e The total weight of all the tins is 2 kg.

e The tins of beans weigh % kg.

e The tins of sweetcorn wengh kg

e The tins of soup weigh % kg.

a) Work out the total weight of the tins of beans, sweetcorn
and soup.

Z = o _13;—__ e ?;"RD
= b o ok G VTN
[ ~J
5 L /
? < . e
— | e 88



LO: To add fractions
INDEPENDENT WORK ANSWERS

a)

2

e Complete the addition pyramids.

o |~

wlN

ol

W=

b)

o |wn

W

Ww|N

B

wiN
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LO: To add fractions
INDEPENDENT WORK ANSWERS

o What could the three missing numerators be?

|, L _1_13
12 2 D

a

Give three different possibilities.

, N A " ’ 13 Various answers

4 12 S 2D

- . 3_+ b33

4 12 3 =

| 2 | 13

. R ) - T T %0



Friday 12th February 2021

LO: add fractions

https://voutu.be/WjoBo3PDn6M



https://youtu.be/WjoBo3PDn6M

Times Table Rockstars https://ttrockstars.com/.

Everyday please log into Times Tables RockStars
(TTRS)

You have been sent login details, if you are
unsure please contact your teacher

92


https://ttrockstars.com/

1 _ k y Week 5 Day5
; 5

) What is I—g?

2 2

2) Which is the smaller fraction, 5or3 ?

3)  Multiply 108 by 12

Y) Subtract 405 from 1000

4
Maths

93



LO: To add fractions
Key Vocabulary for today’s lesson

e Fractions TR
roughout this
e Add _ lesson think about
e Denominator how you tackle the
e Numerator question. What
: way is the most
° Com_mon denominator officient?
e Multiples (quickest)
e Equivalent fraction

94



Today you are going to practice your
learning from this week

Go back to lessons earlier this week to
remind yourself of how to add fractions
with different denominators.

Please also complete your times tables
rockstars



Eva is attempting to answer:

3+1+3

5 10 20
~
[ Rox 3. 1 .3 7
s+1o 20 35
J

Do you agree with Eva?
Explain why.

LO: To add fractions

Eva is wrong because she has
added the numerators and
denominators together and
hasn’t found a common
denominator. The correct
answer is 17 20

96



LO: To add fractions
INDEPENDENT TASK

1 1 1 7 3 3
e e B i —_— e — =
2 4 8 [ J 8 4 16 [ J
1 1 5 1 5 1
g ol — —_— 3 — 4 — =
6 3 12 { ] 2 8 16 { J
1 5 1 5 1 7
—_—t —F —= —_—F—f —=
4 8 2 [ } 6 2 12 [ J
5 1 1 3 3 7
—+ — 4+ — = —+t —+ — =
6 32 2 [ J 8 4 8 [ J 97




LO: To add fractions
INDEPENDENT TASK

Annie solved this calculation.

: : 98
Can voii ennt and exnlain her mistake?



y Year5 Week5 Day5
©k U !
L

3 5
—_—9 =
)] What is | g 3

2 2 2

2) Which is the smadller fraction,zor=? =

<Rl 7
3) Multiply 108 by 2 ,296

Y) Subtract 405 from 1000 OB
d
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LO: To add fractions
INDEPENDENT TASK ANSWERS

1 1 1 7 7 3 3 13
—_—+ — 4 — = —_ —_—+ — 4 — = 1 —
2 4 8 8 8 4 16 16
1 1 5 11 1 5 1 3
—_—+ — 4 — = —_ —_—+ — 4+ — = l1—
6 3 12 12 2 8 16 16
1 5 1 3 5 1 7
—_—t—+ == l1— —+ — + — = 1E
4 8 2 8 6 2 12 12
5 1 1 5 3
—pe—ige— m] /e Do 2
6" 12 2 12 g8 &8 00




LO: To add fractions
INDEPENDENT TASK ANSWERS

Annie solved this calculation. Annie is wrong
because she has
just added the
numerators and
the denominators.
When adding
fractions with
different
denominators you
need to find a
common
denominator.

Can you spot and explain her mistake? 101



Times Table Rockstars https://ttrockstars.com/.

Everyday please log into Times Tables RockStars
(TTRS)

You have been sent login details, if you are
unsure please contact your teacher

102


https://ttrockstars.com/

Have a lovely weekend
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